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0 n P S
o Q
o =
E
2 E
< %]
Q c
E [=}
= 3
i3
HU\HWHHHWHUHNEHUMHWHHUH !”\HHEHH\HW"\HW |
o B B B 14 al
HHHH\‘UWHH’\HWWU’HWHH’H”HH'\HHHH’UHHH‘ | I
0051l LIt I BB 0.95
=25-20- 10 15 20 25 —25—20 15 10 5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—"— DQM_TT_original
I N of sim| —— DQM_TT_newscoreonlyINIT
(%] n
Qo o
el =
5 10° 3
g 2
g 2
@ 10 1]
= 3
x
10°
10?
L0f--i--ebmebc et
C H’ HH HH i g
: .w \”H’ ”i| ; ‘ ||,‘ :
0957 - 0.2 0.8 0951680604020 02040608 1
TP dxy PV) (cm TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
1%] F n
Qo F N o
= I . (=
5105?““"""""""'. """""""""" ks
2 H E
i : 2
s 10°F S
T e
F x
10°
10?
10 :
g+ ' o
g : 8
@ i @
%930 20 0 10 20 30 0¥ 20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
(%] E 1J -
] 3 Q
S [
3
2 E
x %]
Q c
I S
= 3
i3
° ' o T
§ N § N N
o fitt g
0BT 05 0 0¥ 05 0 05

0.5 1
TP dz(PV) (cm)

1
TP dz(PV) (cm)



	Contents
	Page 1


